LS.A-AS-SST-VD RIE elesa TOHATSU

Bk - BB
sus)

d
] i 0
ey
‘:::#::,
) il
1 - S ) ! '+
—b‘
JRIEE 12 FhiEE i :
ME | BEe| ME | ME| BE D
PAHIRAS | B | SUS304 | NBR | ZFEEATO

oo v IBREK | AR B2
s it D d L L1 l 11 h S B | HEN | ¢ E=F

188101 | LS.A-25-14-AS-SST-M8x43-VD 25 | M8 67 70 43 1 24 | 12 | 14 14 7000 35

188103 | LS.A-25-14-AS-SST-M8x68-VD 25 | M8 92 95 68 | 24 | 12 | 14 14 7000 45

188111 | LS.A-25-14-AS-SST-M10x43-VD | 25 | M10 | 67 70 43 1 24 | 12 | 14 14 7000 45

188113 | LS.A-25-14-AS-SST-M10x68-VD | 25 | M10 | 92 95 68 | 24 | 12 | 14 14 7000 58

188115 | LS.A-25-14-AS-SST-M10x98-VD | 25 | M10 | 122 | 125 98 | 24 | 12 | 14 14 7000 72

188121 | LS.A-25-14-AS-SST-M12x43-VD | 25 | M12 | 67 70 43 1 24 | 12 | 14 14 7000 55

188123 | LS.A-25-14-AS-SST-M12x68-VD | 25 | M12 | 92 95 68 | 24 | 12 | 14 14 7000 73

188125 | LS.A-25-14-AS-SST-M12x98-VD | 25 | M12 | 122 | 125 98 | 24 | 12 | 14 14 7000 95

188131 | LS.A-25-14-AS-SST-M14x68-VD | 25 | M14 | 92 95 68 | 24 | 12 | 14 14 7000 88

188133 | LS.A-25-14-AS-SST-M14x98-VD | 25 | M14 | 122 | 125 98 | 24 | 12 | 14 14 7000 | 109

188135 | LS.A-25-14-AS-SST-M14x148-VD| 25 | M14 | 172 | 175 | 148 | 24 | 12 | 14 14 7000 | 192

188141 | LS.A-25-14-AS-SST-M16x68-VD | 25 | M16 | 92 95 68 | 24 | 12 | 16 14 7000 | 118

188143 | LS.A-25-14-AS-SST-M16x108-VD| 25 | M16 | 132 | 135 | 108 | 24 | 12 | 16 14 7000 | 169

188145 | LS.A-25-14-AS-SST-M16x148-VD| 25 | M16 | 172 | 175 | 148 | 24 | 12 | 16 14 7000 | 222

188147 | LS.A-25-14-AS-SST-M16x168-VD| 25 | M16 | 192 | 195 | 168 | 24 | 12 | 16 14 7000 | 249

188201 | LS.A-32-14-AS-SST-M8x43-VD 32 | M8 68 71| 43 ] 25| 15 | 14 14 9000 42

188203 | LS.A-32-14-AS-SST-M8x68-VD 32 | M8 93 | 9 | 68 | 25 | 15 | 14 14 9000 52

188211 | LS.A-32-14-AS-SST-M10x43-VD | 32 | M10 | 68 71 43 1 25 | 15 | 14 14 9000 52

188213 | LS.A-32-14-AS-SST-M10x68-VD | 32 | M10 | 93 96 68 | 25 | 15 | 14 14 9000 65

188215 | LS.A-32-14-AS-SST-M10x98-VD | 32 | M10 | 123 | 126 98 | 25 | 15 | 14 14 9000 79

188221 | LS.A-32-14-AS-SST-M12x43-VD | 32 | M12 | 68 71| 43| 25| 15 | 14 14 9000 62

188223 | LS.A-32-14-AS-SST-M12x68-VD | 32 | M12 | 93 9 | 68 | 25 | 15 | 14 14 9000 82

188225 | LS.A-32-14-AS-SST-M12x98-VD | 32 | M12 | 123 | 126 98 | 25 | 15 | 14 14 9000 | 102

188231 | LS.A-32-14-AS-SST-M14x68-VD | 32 | M14 | 93 9 | 68 | 25 | 15 | 14 14 9000 99

188233 | LS.A-32-14-AS-SST-M14x98-VD | 32 | M14 | 123 | 126 98 | 25 | 15 | 14 14 9000 | 120

188235 | LS.A-32-14-AS-SST-M14x148-VD| 32 | M14 | 173 | 176 | 148 | 25 | 15 | 14 14 9000 | 203

188241 | LS.A-32-14-AS-SST-M16x68-VD | 32 | M16 | 93 97 68 | 25 | 15 | 16 14 9000 | 125

188243 | LS.A-32-14-AS-SST-M16x108-VD| 32 | M16 | 133 | 137 | 108 | 25 | 15 | 16 14 9000 | 179

188245 | LS.A-32-14-AS-SST-M16x148-VD| 32 | M16 | 173 | 176 | 148 | 25 | 15 | 16 14 9000 | 232

188247 | LS.A-32-14-AS-SST-M16x168-VD| 32 | M16 | 193 | 196 | 168 | 25 | 15 | 16 14 9000 | 259

188301 | LS.A-40-14-AS-SST-M8x43-VD 40 | M8 68 71| 43| 25| 17 | 14 14 13000 49

188303 | LS.A-40-14-AS-SST-M8x68-VD 40 | M8 93 | 96 | 68 | 25 | 17 | 14 14 13000 59

188311 | LS.A-40-14-AS-SST-M10x43-VD | 40 | M10 | 68 71| 43 ] 25 | 17 | 14 14 13000 59

188313 | LS.A-40-14-AS-SST-M10x68-VD | 40 | M10 | 93 96 68 | 25 | 17 | 14 14 13000 7?2

188315 | LS.A-40-14-AS-SST-M10x98-VD | 40 | M10 | 123 | 126 98 | 25 | 17 | 14 14 13000 86

188321 | LS.A-40-14-AS-SST-M12x43-VD | 40 | M12 | 68 71 43 | 25 | 17T | 14 14 13000 69

188323 | LS.A-40-14-AS-SST-M12x68-VD | 40 | M12 | 93 96 68 | 25 | 17 | 14 14 13000 87

188325 | LS.A-40-14-AS-SST-M12x98-VD | 40 | M12 | 123 | 126 98 | 25 | 17 | 14 14 13000 | 109

D N N e o o o e e e o o R R E o o N N e e o Ao e E e e o o 1 N e o o A N D e o

188331 | LS.A-40-14-AS-SST-M14x68-VD | 40 | M14 | 93 96 68 | 25 | 17 | 14 14 13000 | 102




LS.A-AS-SST-VD RIE elesa TOHATSU

Bk - BB

Rk st Dld|L ||t lu|hnl|s %if(:f %’gﬁ =
188333 [ LS.A-40-14-AS-SST-M14x98-VD 40 M14 | 123 | 126 98 25 17 14 14 13000 123
188335 [ LS.A-40-14-AS-SST-M14x148-VD| 40 M14 | 173 | 176 | 148 25 17 14 14 13000 206
188341 | LS.A-40-14-AS-SST-M16x68-VD 40 | M16 93 96 68 25 17 16 14 13000 132
188343 [ LS.A-40-14-AS-SST-M16x108-VD| 40 M16 | 133 | 136 | 108 25 17 16 14 13000 186
188345 | LS.A-40-14-AS-SST-M16x148-VD| 40 M16 | 173 | 176 | 148 25 17 16 14 13000 239
188347 | LS.A-40-14-AS-SST-M16x168-VD| 40 M16 | 193 | 196 | 168 25 17 16 14 13000 266
188401 | LS.A-50-14-AS-SST-M8x43-VD 50 M8 70 73 43 27 19 14 14 13000 6l
188403 [ LS.A-50-14-AS-SST-M8x68-VD 50 M8 95 98 68 27 19 14 14 13000 71
188411 | LS.A-50-14-AS-SST-M10x43-VD 50 M10 70 73 43 27 19 14 14 13000 71
188413 | LS.A-50-14-AS-SST-M10x68-VD 50 M10 95 98 68 27 19 14 14 13000 84
188415 | LS.A-50-14-AS-SST-M10x98-VD 50 M10 | 125 | 128 98 27 19 14 14 13000 98
188421 | LS.A-50-14-AS-SST-M12x43-VD 50 M12 70 73 43 27 19 14 14 13000 81
188423 [ LS.A-50-14-AS-SST-M12x68-VD 50 M12 95 98 68 27 19 14 14 13000 99
188425 [ LS.A-50-14-AS-SST-M12x98-VD 50 M12 | 125 | 128 98 27 19 14 14 13000 121
188431 | LS.A-50-14-AS-SST-M14x68-VD 50 M14 95 98 68 27 19 14 14 13000 114
188433 [ LS.A-50-14-AS-SST-M14x98-VD 50 M14 | 125 | 128 98 27 19 14 14 13000 135
188435 [ LS.A-50-14-AS-SST-M14x148-VD| 50 M14 | 175 | 178 | 148 27 19 14 14 13000 218
188441 | LS.A-50-14-AS-SST-M16x68-VD 50 M16 95 98 68 27 19 16 14 13000 144
188443 | LS.A-50-14-AS-SST-M16x108-VD| 50 | M16 | 135 | 138 | 108 27 19 16 14 13000 197
188445 | LS.A-50-14-AS-SST-M16x148-VD| 50 M16 | 175 | 178 | 148 27 19 16 14 13000 251
188447 | LS.A-50-14-AS-SST-M16x168-VD| 50 M16 | 195 | 198 | 168 27 19 16 14 13000 278
188501 | LS.A-60-14-AS-SST-M8x43-VD 60 M8 76 79 43 33 24 14 14 14000 81
188503 [ LS.A-60-14-AS-SST-M8x68-VD 60 M8 101 | 104 68 33 24 14 14 14000 93
188511 [ LS.A-60-14-AS-SST-M10x43-VD 60 M10 76 79 43 33 24 14 14 14000 90
188513 | LS.A-60-14-AS-SST-M10x68-VD 60 | M10 | 101 | 104 68 33 24 14 14 14000 103
188515 | LS.A-60-14-AS-SST-M10x98-VD 60 M10 | 131 | 134 98 33 24 14 14 14000 117
188521 | LS.A-60-14-AS-SST-M12x43-VD 60 M12 76 79 43 33 24 14 14 14000 100
188523 | LS.A-60-14-AS-SST-M12x68-VD 60 M12 | 101 | 104 68 33 24 14 14 14000 118
188525 | LS.A-60-14-AS-SST-M12x98-VD 60 M12 | 131 | 134 98 33 24 14 14 14000 140
188531 [ LS.A-60-14-AS-SST-M14x68-VD 60 M14 | 101 | 104 68 33 24 14 14 14000 141
188533 [ LS.A-60-14-AS-SST-M14x98-VD 60 M14 | 131 | 134 98 33 24 14 14 14000 162
188535 | LS.A-60-14-AS-SST-M14x148-VD| 60 M14 | 181 | 184 | 148 33 24 14 14 14000 245
188541 | LS.A-60-14-AS-SST-M16x68-VD 60 M16 | 101 | 104 68 33 24 16 14 14000 163
188543 [ LS.A-60-14-AS-SST-M16x108-VD| 60 M16 | 141 | 144 | 108 33 24 16 14 14000 217
188545 | LS.A-60-14-AS-SST-M16x148-VD| 60 M16 | 181 | 184 | 148 33 24 16 14 14000 270
188547 | LS.A-60-14-AS-SST-M16x168-VD| 60 M16 | 201 | 204 | 168 33 24 16 14 14000 297
188551 | LS.A-60-24-AS-SST-M16x58-VD 60 M16 | 101 | 104 58 43 24 24 24 18000 226
188553 | LS.A-60-24-AS-SST-M16x98-VD 60 M16 | 141 | 144 98 43 24 24 24 18000 279
188555 | LS.A-60-24-AS-SST-M16x138-VD| 60 M16 | 181 | 184 | 138 43 24 24 24 18000 330
188557 | LS.A-60-24-AS-SST-M16x158-VD| 60 M16 | 201 | 204 | 158 43 24 24 24 18000 358
188561 | LS.A-60-24-AS-SST-M20x98-VD 60 M20 | 141 | 144 98 43 24 24 24 18000 351
188563 [ LS.A-60-24-AS-SST-M20x138-VD| 60 | M20 | 181 | 184 | 138 | 43 24 24 24 18000 | 432
188565 | LS.A-60-24-AS-SST-M20x158-VD| 60 | M20 | 201 | 204 | 158 | 43 24 24 24 18000 | 472
188567 | LS.A-60-24-AS-SST-M20x198-VD| 60 M20 | 241 | 244 | 198 43 24 24 24 18000 558
188571 | LS.A-60-24-AS-SST-M24x98-VD 60 M24 | 141 | 144 98 43 24 24 24 18000 45)
188573 | LS.A-60-24-AS-SST-M24x158-VD| 60 M24 | 201 | 204 | 158 43 24 24 24 18000 629
188575 | LS.A-60-24-AS-SST-M24x198-VD| 60 M24 | 241 | 244 | 198 43 24 24 24 18000 751

B
3t

= R R e N e Ao B R N g o R R e N N oy R R B N N o R R H o 1 o R N e g e e N R e g e o R e g

ps. [opsd e @% | =10 [X]
- BARE [ -30°C~100°C 188101
BEE (WA PEF=1
- FHRAL 5005 TE5) PARLAY > £f55 FDA IR%E(FDA CFR.21 A0 - WIREE L RERBAEMAE » IR ERRERR
EU 10/2011) > BEMIRE(TH - PIERAARRAIR S - AVLEERATR - W (RERER)FAER 0K 5
B BB S ER BT

BB BNEERE BRNETIL  EEHEIEE



